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a &t 21,553 21,030 25, 602 26, 392
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(2) ENEREEE

BX%IE - ENEEL. FASDMFEBRICIDI—RHUTE (OVE2L-FHB) Z.
HAESNEH UCHRER. TEENDEREZECEICNEREBAS CTEBLERKIUVEEE
70\ MEOFEORREBOMST « WSYEMECHDDBTE (ZRHE) 2 THRET D,
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g E 20 21 22 23 24
BEESMRAER (@) 730 673 736 120 760
BEEHEHR (W) 23,426 | 21,407 | 25,874| 25,567 | 25,819
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BEXiE - ENEREER H£H 3 A3 BRE (BAL: A)

F 21 22 23 24 25

%1 SWIRIKRE 1,100 1,366 1,624 1,841 2,265

= % 2 SHWRIRE 8 9 23 21 21
B & &t 1,108 1,375 1,647 1,862 2,286
R 5.1% 6. 0% 6. 8% 1.2% 8. 3%

%1 SWIRIRE 2,500 2,415 2,523 2,756 2,876

EwiE o 2 EHRRE 44 39 38 39 44
a &t 2,544 2,454 2, 561 2,795 2,920

R 11.7% 10. 8% 10. 6% 10. 9% 10. 6%

%1 SWIRKRE 3,505 3, 685 4,004 4,303 5, 364

B 1 g2 %*Biﬁ':ﬂﬁ% 17 85 10 83 101
= a &t 3, 582 3,710 4,074 4,386 5, 465
AL 16. 5% 16. 6% 16. 9% 17. 1% 19. 9%

%1 SWIRIRE 4, 809 5,215 5, 569 6, 105 5,968

FfiE 2 %2 SWIRIRE 161 171 182 184 151
= a &t 4,970 5,392 5, 751 6, 289 6,119
AL 22. 9% 23. 7% 23. 9% 24. 5% 22. 3%

%1 SHIRIRE 3, 564 3, 593 3, 548 3,741 3,761

BiE 3 %2 SWIRIRE 134 130 1217 129 120
= a &t 3, 698 3,723 3,675 3,870 3, 881
R 17.1% 16. 4% 15. 3% 15. 1% 14. 1%

%1 SHIRIRE 3,096 3,169 3,197 3,233 3,324

B 4 %2 SWIRIRE 105 103 96 79 91
= a &t 3, 201 3,272 3,293 3,312 3,415
R 14. 8% 14. 4% 13. 7% 12. 9% 12. 4%

%1 SHIRIRE 2,481 2,647 2,931 3,076 3, 286

=5 %2??&1%[@% 91 108 119 120 126
& &t 2,578 2,755 3, 050 3,196 3,412

R 11.9% 12.1% 12. 7% 12. 4% 12. 4%

%1 SHIRIRE 21, 061 22,090 23, 396 25, 055 26, 844

A = %2 SHIRIRE 620 651 655 655 654
= 5 &t 21, 681 22, 741 24, 051 25,710 217,498
R 100% 100% 100% 100% 100%

(3) SAEEWE
RERESDRHDBBEREENDE EEHNDEHICERLTUND,
@ FEHE
FRRICREREICNHSB I DIENNIRT, SEHEHZENTESNTND,
@ IREWHE
XANDBBNEZESEESLORESEXIRIC, HAEEHOBLEBHELTEELT
AP

g E 20 21 22 23 24
E% (=) 10 10 8 8 5
ERSIER (N) 584 761 212 198 161
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